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7.

Candidates MUST read the following instructions carefully before starting the question paper.
F9d 59 B3 ¥ @, gy frafafes sgdel @) amgds vg o)

. All questions are compulsory. All questions carry equal mark.

wft we sifyard &1 w9t wvAt @ s wary &

Before answering the questions, the candidates should ensure that they have been supplied complete
question booklets. Complaints, if any, regarding misprinting etc. will not be entertained 15 minutes after the
start of test.

FELgA F B @ qd srpeffror g gfAifaa @ & & o7 qf gerufaer Mt @ aur gud vurd wadh sl
PIg Fre 78 2| v & 81 P 15 e a7 39 "o A g Rreraa 7€ g wre

in case there is any discrepancy in any question(s) in the Question Booklet, the same may be brought to the
notice of the Controller of Examinations in writing within two hours after the test is over. No such complaint(s)
will be entertained thereafter.

IR} ye-ax # 5 ye @ wafua o R & @ 3w R F ol gaen /Rierga oden wara @9 @ g g2
P JRv-I=Y, e FEFe A guAr ¥ 9 WY gwe W QA e N guer / Rema w sdad) ol
grft

The candidates must return the complete question booklet and the OMR Answer-Sheet to the Invigilator
concerned before leaving the Examination Hall, failing which a case of use of unfair-means/misbehaviour will
be registered against him/her, in addition to lodging of an FIR with the police. Further the answer-sheet of
such a candidate will not be evaluated.

& e Bred A gd ) spaeffior sl gf weufer @ sle wHo aRe STR-ym wWfva Plwe @) v &
WY w9 fAvg oAy Wa/gaddRR @1 ww derar W AR Wy @ g Qv g d gwo aido
ARo f forgard oyt | OX 9 ¥ I e @ IeRum A Wirg W 7E Hvard s

. The candidates must not do any rough work or writing in the OMR Answer-Sheet. Rough work, if any, may

be done in the question booklet itself.
AT o YHo HRo TER-UA WR PN VP 1Y 7 BY| ddal WEUHGT F ) 6 s Y|

. There will be negative marking. For every wrong answer ¥a mark will be deducted. In case you are not sure

of answer or do not want to attempt any question, leave the space blank under the concerned Question No. in
the OMR Answer-Sheet. Cutting, erasing, overwriting and more than one answer in the OMR Answer-Sheet
will be treated as wrong answer.

THRTAS P BN | TAS 7Tod IR @ g Ve (dheng) o &0 o= fRar wmen ) afk smg | s & an 4
Jregwd 78 € W ) W &1 SR A€ A Ared @ ITR-UF @ wHERa @H B @iell BIg €| 3o Yo JHivo
ITR-99 W Fre-dre, frerr iR s @ 3fE IaR ed | AT |

Use only blue or black ball point pen in the OMAR Answer-Sheet.

3t YHo o TTN-UH UY Paa Aot 41 Fret aler gige 97 BT # gAT B @M)Z;F(W/

CJDEOT-2012/Set - Z/(D)
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1. Which of the following is not an example of a value ?

(1) 350 (2) May 10, 2012

(3) 57% (4) Serial Number 50771
=1 4 | #1971 value &1 IaTERVT FE € ?

(1) 350 (2) May 10, 2012

(3) 57% (4) Serial Number 50771

2. Which of the following formulas will Excel not be able to calculate ?
(1) =SUM (Sales) - A3
(2) =SUM (A1:A5)+0.5
(3) =SUM (A1: A5)/(10-10)
(4) =SUM (A1:A5)-10
A% # | Excel ®19-11 BTeAl calculate 78 R A ?
(1) =SUM (Sales) - A3
(2) =SUM (A1:A5)=0.5
(3) =SUM (A1:A5)/(10-10)

(4) =SUM (A1:A5)-10

3. Which of the following is an absolute cell reference ?
(1) 'A!1 (2) $AS$1
(3) #a#1 (4) Al
fo=1 3 9 @191 absolute cell reference & ?
1) A1l ) $AS1
(3) #a#1 4) A1l
CJDEOT-2012/SET-Z/(D) P. 1.0,



4. To view a cell comment :
(1) Click the edit comment command on the insert menu
(2) Click the display comment command on the window menu
(3) Position the mouse pointer over the cell
(4) Click the comment command on the view menu
& cell 3 Rufdrdl @ 3w & ford fs § @ 7 &va € ?
(1) Insert #] W WA edit comment & fFed Hed &
(2) Window ¥ W 9T&R display comment &' fai@ &va &
(3) Mouse @TgeR B! cell R @ &
(4) View ¥ W comment &¥is & fdeid Fvd &

5. Concatenation of text can be done using :
(1) Apostrophe (') (2) Exclamation (!)
(3) Hash (#) (4) Ampersand ( &)
Text & 71 3§ | f&¥ gRT concatenate f&a1 1 |&FHar 2 ?
(1) Apostrophe (') (2) Exclamation (!)

(3) Hash (#) (4) Ampersand ( &)

6. What is the short cut key to open the Open dialog box ?
(1) F12 (2) Shift + F12
(3) Alt+F12 (4) Ctrl +F12

Open ST dfeq @Wre @ ford short cut ardt - 8 ?
) F12 (2) Shift + F12
(3) Alt+F12 (4) Ctrl + F12

CJDEOT-2012/SET-Z/(D)



7. What are inserted as cross-reference in Word ?

(1) Placeholders (2) Bookmarks
(3) Objects (4) Word Fields
Word # &9-9 cross-reference insert f&5d omal € ?

(1) Placeholders (2) Bookmarks
(3) Objects (4) Word Fields

8. Which would you choose to save a document with a new name ?
(1) Press Ctrl +S
(2) Click File, Save
(3) Click Tools, Options, Save
(4) Click File, Save As
f=1 % ¥ document ®! A M W save FX & ford HIF-|1 W4T F @ € 7
(1) Ctrl +S 37 gqr=T
(2) f&® File, Save
(3) fd® Tools, Options, Save
(4) f&® File, Save As

9. Which of the following do you use to change margins ?
(1) Formatting toolbar
(2) Page Setup dialog box
(3) Standard toolbar
(4) Paragraph dialog box

fr=foRad § ¥ margin a5em @ ford &1 94T &R € ?
(1) Formatting gcfaR

(2) page setup ST dfdd

(3) Standard TaER

(4) Paragraph S/ dfed

CJDEOT-2012/SET-Z/(D) P.T.O.



10. We can replace a font on all slides with another font using the option ?
(1) Edit — Fonts
(2) Tools — Fonts
(3) Tools — Replace Fonts

(4) Format — Replace Fonts

e # @ 99 RAFcy grT w9 wgS! ¥ existing font &1 R font A replace fbar
O ol 8 7

(1) Edit — Fonts
(2) Tools — Fonts
(3) Tools —» Replace Fonts

(4) Format — Replace Fonts

11. What does .com domain represent ?

(1) Education domain (2) Commercial domain
(3) Network (4) None of the above
com WA (Domain) @1 guiar & ?

(1) TS SrF (2) salfaa SfF

(3) Aeam (4) SWa # & §B # TE

12. Two kinds of main memory are :
(1) Primary, Secondary (2) Random, Sequential
{3) RAM, ROM {4) All of the above
7 WA (main memory) & 2 YR &1 & ?
(1) Primary, Secondary (2) Random, Sequential
(3) RAM, ROM (4) SwiEw wf
CJDEOT-2012/SET-Z/(D)
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13. Firewall in a Computer Network is :

14.

15.

(1) the physical boundary of network

(2) an operating system of computer network

(3) A system deviced to prevent unauthorized access
(4) A web browsing software

FPER Jead H Firewall a1 &rem 8 ?

(1) scas & Hifas A

(2) FTad BT ATRET (operating) Rwen

(3) WOTeR (system) @Y FARPT ygd I q@H B g
(4) Web Browser |idcaay

Computer size was very large in :
(1) First Generation

(3) Third Generation

FHRYER BT JHR a8 99T o

(1) e 9 & (2) T 9 A
(3) @ @it H (4) =R 9 A

(2) Second Generation
(4) Fourth Generation

Digital systems are systems which :

(1) deal with digital information in the external world

(2) uses analog signals

(3) manipulate information

(4) handle information in digital form internally

Digital R

(1) aed gfyar # RBRed information deal &va &

(2) analog signals ¥ &< &

(3) information T XY (manipulate) & &

(4) feféreat information &1 HcR@ (internally) handle @¥d

CJDEOT-2012/SET-Z/(D)

PrE;O.



16. Which alternative does fill up the blank ?

€9 (o ¥ [oc]
(1)°@° @ P

(3) rékj @ &

-41 farcr Raw o< & wRar 8 2

o)
M o 1o @) lo/e\o

(3) @ @ | o3

17. Ravi starts from a point on his bicycle to ride 8 km to North then takes a left turn to

S

move 11 km. There after he rides 24 km Southward and finally turn to left to stop
after a ride of 11 km. How far and in which direction is he now ?

(1) 32 Km, West (2) 2 Km, South
(3) 16 Km, South (4) On starting point

A v e A g AEfed W TR A SR 8 R T aR ag g oan @ SR 11 fH
aam%aamﬁag%%ﬂa@maﬁamaamwﬁgsmllMwwmmmag

3q e A fra gw 2 ?
(1) 329, ofdem (2) 29, =féo
(3) 16 fa, =fayor (4) IRf™¥F @I W

CJDEOT-2012/SET-Z/(D)
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18. Which diagram represents Sun(S), Planets(P), Earth (E) ?

(@ N©)Je

@ Lx) ()

9@ (S), 7t (P), g2t (E) # a-wr o Frofia war & 2

(2)@

3 (e()s CNOIOIO)

3)

3 ©

(¢))

@
1

19. Choose the odd one:

(1) Chameleon (2) Crocodile
(3) Alligator (4) Locust
e T

(1) ffire 2) TR

(3) W @) fe&t

20. What is equal to ¥384.16 =?
(1) 196 (2) 196 (3) 61.98 (4) 6.19
V38416 =? @ aRTER FT BT

(1) 196 (2) 19.6 (3) 61.98 (4) 6.19
CJDEOT-2012/SET-Z/(D) | i T G 8



21. Who was the first woman to be the Union Minister in India ?

(1) Sarojini Naidu (2) Sucheta Kriplani

(3) Vijai Lakshmi Pandit (4) Rajkumari Amrit Kaur
HRA # =g F=0 999 arel 9UH Al $19 o ?

(1) AR g (2) gaar P

(3) fasrg @ed ofea (4) TTHAR I DR

22. When do we observe National Youth Day ?

(1) May, 8 (2) January, 12
(3) June, 5 (4) August, 29
&Y I gar e e 7 € 2

(1) 8 =% (2) 12 Srad
(3) 537 (4) 29 I

23. Eritrea is situated in ...........

(1) Europe (2) Africa

(3) Asia (4) South America
R # Rerg 21

(1) gy (2) 3mprent

(3) wRrm (4) =féror spRer

24. What is the Life Expectancy (in years) as per Census India 2011 provisional figures ?
(1) 70 (2) 72 (3) 65 (4) 67
HRA § STHTOT 2011 B IE{TH AHST H FAR Sgw gearen (W) a1 8 ?
(1) 70 ) 72 (3) 65 4) 67

CJDEOT-2012/SET-Z/(D)
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25. Who have been r.ecently nominated to Rajya Sabha ? e e e \ M
(1) Sachin Tendulkar
(2) Rekha and Sachin Tendulkar =~ " S
(3) Anu Aga and Sachin Tendulkar | : i .
(4) Rekha, Anu Aga and Sachin Tendulkar |
71 & ¥ wog o ¥ 5 v v e 2 7 S
(1) Wi agaaR
@) ¥ R Ay e
) " (3) ¥ AT TG A Ige] i
(4) @ 3 o wE Wi dgeer 0 . s on e en e dlen il o
‘ 26. Prafufis sl ¥ @ 5 o= gho PaYIC L L e
(1) el N (2) sraeats
(3) aehfes % 0 IR (@) firdrs Frete
27. Prefefen T % & P W S T a1t T ?
(1) Frssgea - (2) R
(3) "R CTe L@ samg ees ol AT
28. fr=fifag ol ¥ | IR 1= 3 Redaeds e &1 wad Hifg o
’ (1) PrTER (2) amETe
; @ e U @y gekmer T e |
20, 43 Ry Ty e & Raw o wey @ R @ e AP < I
BART 39 HR-UR AR & e * AR T W 2| " i
(1) 35T . (@ wews .
o S e At

CJDEOT-2012/SET-Z/(D) ‘ | S , P.T.O. .
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30. R Ry 71w agg ¥ Rea wmg w1 & g w8 e g

W%W#Wﬂﬁﬁﬁqﬂa?ﬂ?ﬁw ................... ﬁ:‘ml _ wrifsd )
(1) |t 0 (2) @1
(3) wuH 4 v

31. Select the correct form of the verb from the options to fill in the blank in the following

sentence : e
I will call you on phone when he ............. back. s 3= 00 om0 g «.I'J-‘;-
(1) will come (2) comes (3) is coming (4) return
) e gt . (1}
32. Select the correct option to fit in the blanks in the following para:
Letter writing is a bit difficult job.- Famous letter-writers were very ............ . They
WrOte .....ccenvinan letters which are read by people with ............ |
. Leg
(1) casual, excellent, case ..o (2) careless, difficult, attention A
(3) serious, excellent, attention (4) serious, excellent, carelessncss
BT

33. Select the correct option to fill in the blank in the following sentence :

l'l_l\;_-r .[:;.. o5

Why . him yesterday ?

(1) you didn't meet ©o WY e 'e {2) you haven't meet

R TR
(3) haven't you met _ (4) didn't you meet
- :,‘I'y'.'_i'. {_ " .

CJDEOT-2012/SET-Z/(D)



34.

35.

36.

11

Read the following passage and select the statement best supported by it :

Things in metropolitan India are gradually changing. Women are being recognised by
employers, particularly in corporate sector as temperamentaily more suitable in this
age. Visit any advertising agency or ad-film maker's office, the male-female ratio
leans heavily towards the female population.

Statements :

(1) Women are heading most of the ad-agencies

(2) Women are believed to be more suitable to handle infotech jobs/ offices
(3) Only elite women join the corporate sector

(4) Male-female in the society is gradually changing

Read the following passage and select the correct answer :

The first official results of Mexico's Presidential election, declared on 1st July 2012
showed Lopez Obrador with 31 percent of vote against 38 percent for Pena Nieto of
Institutional Revolutionary Party. When Obrador lost the 2006 presidential election,
he claimed fraud and organised mass protests. The president-elect pledged to focus
on energy, labour and tax reforms, and hoped to strike deals with his opponents  to
take the country forward.

(1) Lopez Obrador has been elected President of Mexico
(2) Pena Nieto has been voted to power in Mexico
(3) Pena Nieto will organise protests to expose fraud in the election

(4) Obrador will introduce energy, labour and tax reforms

Slide sorter of Power Point is available on .................. menu.

(1) Insert (2) File (3) View (4) Edit
Power Point &1 Slide sorter IR ................ ¥ R IqT BT 2|

(1) Insert (2) File (3) View (4) Edit

CJDEOT-2012/SET-Z/(D) P00



F 12 ' D

37. The spelling dialog box can be involved by choosing spelling from ................ menu.
b (1) Insert (2) File , (3) Tools . (4) View

sy +. Spelling STAGT & B ..ovverrererieee. A ¥ Spelling &1 grd & A fawgr o1 webal
. 11 S e : : ST
() Insert (2) File «~ (3) Tools- - 'l (4) View

38. All worksheet formula :

T VO SO ST (28 APET TS IR oot
(1) Manipulate values
(2) Return a formula result
‘ ¥rite” ! .
(3) Manipulate labels
] i A . -

(4) Use the addition operator '

i TEe o e ¥ Fm e 2 7
o ) Values @1 manipulate % o o
() wrfe & TR R E .

(3) @@ @ manipulate &ey § Vw2 :
() addition sty B w §

L

35| RIS ot gL

39. Documentation should include :
(1) Destination and users of the output data
(2) Source of input data
(3) Information on the purpose of the workbook
(4) All of the above ‘ SRR C TR
Documentation % =1 & & 71 wfdw 2 ?

(1) T @ IEege BT B oR e S
@ @ ofw gge w1 0

(3) TPIF B WEES @ @ERE g o U

(4) IR T | _ I

- CJDEOT-2012/SET-Z/(D) ’ SRA
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40. Getting data from a cell located in a different sheet is called ................... :

(1) Accessing (2) Referencing
(3) Updating (4) Functioning
& T sheet ¥ Ry cell § STET @1 @ e, FEd B |
(1) Accessing (2) Referencing
(3) Updating (4) Functioning

41. Which ot the following command is not available in Tools menu ?
(1) Auto text (2) Auto correct
(3) Auato ?ummarize (4) Macro
Tools ¥ W 75 # ¥ F19-WM command #g@ & &t ?

(1) Auto text (2) Auto correct

(3) Auto summarize (4) Macro

42. Which of the following can not be used to create parallel style column ?
(1) Format Tabs (2) Table Insert Table

(3) Insert Textbox (4) Format Columns
s % @ PH-91 AR wWisd @ Column 99 # Wt 78 @ S A ?

(1) Format Tabs (2) Table Insert Table

(3) Insert Textbox (4) Format Columns

CJDEOT-2012/SET-Z/(D) P.T.O.



45.

What is the shortcut key for "subscript” the selected text ?

(1) Ctrl+= o St f:."‘.,-l : (2) Ctl'l+— . “-‘;’:- v

(3) Ctrl +Shift + = S (4) Ctrl + Shift + ~ S

Tafa Re & “subscript” #X7 ® fO shortcut Trft B B & ?
(1) Ctrl + = e (2) Ctrl +-

(3) Ctrl +Shift+= = =~ (4) Ctrl + Shift +—

What is the shortcut key to Update Formula in a table ? SRR

(1) F9 L (2) Alt+F9

(3) Ctrl + F9 '- (4) Shift +F9 &b oo i

2qA 3§ BE ATST IR B A shortcut T HH-4 Bl 8 ?
(1) Fo S (2) Alt+F9

(3) Ctrl +F9 Sve- T (4) Shift+F9 v orem e

What is the shortcut key to "Undo" the last action in a document ? . .

(1) Ctrl + X ) (2) Cal+Y - Ca

Vregrer

(3) Ctrl + Z ' ' - (4) None of the above - |

exT # IRed BT B "Undo" FRY B R shortcut AR AR AR R 2

(1) Ctrl+ X (2) Ctrl+Y

——

@ Cl+Z . (4) SREE Y Y PE A

CJDEOT-2012/SET-Z/(D) At
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46. A high speed, high capacity transmission medium that can carry signal from multiple

independent network carrier is :
(1) Narrow band channel

(2) Voice band channel

(3) Broad band channel

(4) None

U 9w A, Sed &Hdl &1 Woxvl Arerd o fafdy independent Network Carriers ¥
Hdd (signal) & 1 |HaT 2

(1) Narrow band channel
(2) Voice band channel
(3) Broad band channel

@) S ¥ A B T

47. URL stands for:
(1) Uniform Read Locator
(2) Uniform Resource Locator
(3) Unicode Research Location
(4) United Research Locator
URL fsaa wferaftavor 2 ?
(1) Uniform Read Locator
(2) Uniform Resource Locator
(3) Unicode Research Location

(4) United Research Locator

CJDEOT-2012/SET-Z/(D) P.T.0.
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48. Machine codeisa:
(1) Low level language
A T T N SRR A
(2) High level language
(3) Software language o
prrr e et ey
(4) Compiler f
YR
T BTS e 1 }
Vo, N AR S G A Vg KRR
(1} Low level language T g e SR
(2) High level language o sy
(3) Software language s
(4) Compiler | | Y ,:-.»-w‘i '
49. What does OCR stands for ? " R
(1) Optical Character Reader TP PR I
(2) Operational Character Reader ot b ooy e 10
(3) Optical Character Recognition L N L 2
(4) Only Character Reader P
OCR forarar wltriaeor & 2 'i_ Crem
(1) Optical Character Reader 1 o
A ELICTIPR SIS X T T B AR A
(2) Operational Character Reader .
(3) Optical Character Recognition B N LTI ST
(4) Only Character Reader - ctesa Vi ngm batr (3
CJDEOT-2012/SET-Z/(D) ) fs
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50.

51.

52.

53.

55.

17
The octal equivalent of 111010 is :
1) 81 @) 72 @ 7 (4) None of these
a1 (Binary) /% 111010 & octal equivalent @1 8 ?
(1) 81 ) 72 3) 71 (4) SWIF # &g N T8
|e! ek aren fdmew gy
YO
(1) o (2) PR
(3) argAfa (4) g2

fFrfofea ot § | PH-a7 o8 g 2 ?

(1) -afvera (2) @R

(3) <afd (4) =R
frfafed wreat § @ w1 v U TR 1 wigard T8 8 ?
(1) smewr (2) =T

(3) fafftar (4) y9s49

frafafeg o= 4 9 e’ vt & faudants e &1 g7 Fifor

(1) sFmgfe (2) sfre
(3) raRs 4) Bfrs
el aef aren Ree g

fagy -

(1) 3= (2) ®BR
(3) IR (4) B9

CJDEOT-2012/SET-Z/(D) P.T.O.
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56.

57.

59.

60.

(1) I 3o= g gelt T
(2) Tft e | =l TE |

(3) I o A & g TE
(4) fR g | & =h 7|

49 ford araw & gR ugl # dfed HHGER frar war 8| 9 W US U, argd @ e
¥ Ffegea 2| FRyw ug # vifey :

B8R A g8 amrE o forar & % ag R 9ug aR o @ g @ W) & forg amdeH
PR |

(1) &R = 7 smus o forar @ &

(2) 9% e 99 HR oW & UTEr &
(3) Fed B g

(4) 3MATT HEM

rfafe ey &) 9gar gEd AR Ay T SERl § | 9 SWR sifey ¢

Rt & e 7o g9@ forg 8 & W el A Big @ N Wod 7 W 2| Bl B BiE
@ A PR PIE 7O B, O SEB J AT € ASYH X G § off §¥ W A ;@ E,
R @s Y@ 2, 3e we gy & SR 9RT 989 T | R 2|

Sugaa et ¥ 9 a1 @ #wevd ) qan g ?

(1) wpfa ) =™

(3) fa= (4) wra
& el gren ey g

gfRaer=r —

(1) SeeT (2) ufarer
(3) wefor (4) =TT

MY Ua e @ qAN B 3G BY TG & | T 9 Y qdHl b1 9= B

(1) Tfeh (2) el
(3) ufeoht (4) Trefor

CJDEQT-2012/SET-Z/(D)



61. To insert new slide in the Current Presentation we can choose :

(1) Ctrl + M (2) Ctrl +N
(3) Ctrl+O (4) Ctrl+F
Current Yoiey™ & U 0 ¥ase & ©oq @ ford A= § 9 f5as ganT & 9ad € °?
(1) Ctrl + M (2) Ctrl +N
(3) Ctrl + O (4) Ctrl+ F

62. A File which contains readymade styles that can be used for a Presentation is called :

(1) Auto Style (2) Template

(3) Wizard (4) Pre-formatting
ﬁlﬂﬁﬁiﬁ?—ﬁmﬁreadymde%ﬁﬁ?ﬁmﬁmmﬁmé?
(1) Auto Style (2) Template

(3) Wizard (4) Pre-formatting

63. Power Point presentation is a collection of ..........ccccceuu..e. .

(1) Slides and Handouts (2) Speaker's notes
(3) Outlines (4) All of the above
Power Point Uuieeq 1 # 9§ far dug € 2

(1) Slides and Handouts (2) Speaker's notes
(3) Outlines 4) TR g

64. Which is not the one of view options provided by Power Point to look at and modify
presentation ?

(1) Slide Show (2) Format Slide

(3) Slide Sorter (4) Normal

¥ % & Power Point &1 ¥oic¥ 3 @A 3R d@a & o HH-91 view option
e

(1) Slide Show (2) Format Slide

(3) Slide Sorter (4) Normal

CJDEOT-2012/SET-Z/(D) P.T.O.
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65.

67.

68.

How can you stop a slide show ?

(1) Press the right arrow (2) Press Escape

(3) Press the left arrow (4) Press the down arrow
3 Slide Show &1 A AH HHA & 7

(1) & arrow &I gE (2) Escape G

(3) I arrow @ TEAH (4) Down arrow &1 &

Who is known as the father of computers ?

(1) Herman Hollerith (2) Grace Hoppers
(3) Charles Babbage (4) Newton
e, P BPYE BT SHGTAT SATAT STTAT 2 |

(1) Herman Hollerith (2) Grace Hoppers
(3) Charles Babbage (4) Newton

The main advantage of magnetic core memory over semiconductor RAM is :
(1) more compact and smaller

(2) more economical

(3) more compact & large

(4) more volatile

Ffed PR AR BT TNPEICY RAM @ FWR & ™ & ¢
(1) 3T srewe iR Bl

(2) fers fEwrad

(3) s s IR T

(4) s fer

Unsolicited commercial e-mail is commonly known as :

(1) junk (2) hoaxes

(3) spam (4) hypertext
gty (unsolicited) AEAA® $-Het AHFGA: ST Sl &
(1) vi® (2) &

3) wm™ (4) FEIRHT
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Which of the following refers to transfer of a file from your computer to a remote

computer ?
(1) FIP ' "ot s L (2) Uploading . & }
(3) Downloading -ad U (4) Telent (32700 M ()

frefafaa & ¥ 991 U@ File ) (9 7Y 4 ) g 35gek R o 1 @& HaH H
yan far s 2

(1) FTIP _ “EELSYL L (2) Uploading J
(3) Downloading L (4) Telent a8
.......... are used to con.nect‘ two dissimilar LANS.

B2 P AT S KT LIS

(1) Bridges (2) Gateways

(3) Router . . (4 Alloftheabove -

............. # 31 AFF LANS &) sired 3 frg sanT far o 2 .

(1) Bridges T @) Gateways AR e TR
T TR R S ] ¥ Y

(3) Router . (4) SURIE T

s

A person lent some money at 9% and the same amount at the rate of 10% for 2 years.

He earns a simple interest of Rs. 760. Find the total amount invested : -3

(1) Rs. 4,000 1.
(3) Rs. 1,900 - (4) Rs. 3,800

(2) Rs. 2,000 Y

UF AR 7 O 69 9% B R [ TAT I & g7 10% a1 1 X | 2 99 3 fog Iur

R | 99 760 o WM AT WA g1 | &ad SEA Hd fhan g7 &1 Faw e ?
(1) 4,000 Bo TS . (2) 20000 ey

(3) 1,900 Bo , (4) 3,800 Jo =)

=
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72. The list price of an article is Rs. 450. It is sold at two successive discounts of 10% and
5%. Find the sale price : o RRETY
(1) Rs.395.25 vt s+ (2) Rs.38475 Cri
{3) Rs.382.50 caiad ¢ (4) Rs.435 A
waigafrgsuﬁomﬁww%ﬁmaﬁaﬁzwaﬁwﬂm gT 10% @ 5% @
nﬁlﬁmqmaﬂﬁ Joar Ly
(1) 395.25 %o Lo 0 (2) 38475 %0 ‘ Gt
(3) 382.50 %o S (4) 435 %o e

73. A candidate secures 69% of the votes polled and wins the election by 570 votes. If
there are only two candidates and no vote has been cancelled, how many votes were
polled ?

i - t .5

(1) 1,500 © @ 1800 (3) 5,700 4) 6,900 Lo

U IQER A g8 /Al BT 69% WK Fw@ 570 wal /@ gAE ohar) I 1§ geligar &
MR g N 97 3 T g0 A, A $A R T R T o @@ ?

(1) 1,500 () 1,800 (3 5700 (4) 6,900

N S
s s by

74. In a certain code MYSTIFY is coded as NZTUJGZ, how is NEMESIS coded in that

code language ? b e it e EME i

(1) MDLHRDR © ..« < (2) OFNFIJT B LSS A |
(3) PGOKUGU s e il (4) ODNHTDT S SR

& @HE A § MYSTIFY & NZTUJGZ @ &4 # forgr e @, NEMESIS &9 feran
T;ﬂ'QTﬂ'? yox

(1) MDLHRDR «*#% " (2) OFNFIJT - . R N

(3) PGOKUGU v < (g ODNHTDT . ¥ &

CJDEOT-2012/SET-Z/(D) . | e
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75. Two cubes each of side 10 cm, are joined end to end. What is the surface area of the
resulting figure ?

(1) 500 cm? (2) 1,500 cm?
(3) 1,000 cm? (4) 1,200 cm?
T AN o @ T A (8) TP AR A WER G &1 ¢ Pl 7 wad! e a1 & ?
(1) 500 9% (2) 1,500 ¥
(3) 1,000 &+ (4) 1,200 9+

76. Select the antonym of the word 'Serviceable' from the options given below :
(1) Unservicable (2) Inservicable

(3) Unserviceable (4) Nonserviceable

77. Select the correct antonym of the word ‘Mysterious' from the options given below :
(1) Straightforward (2) Puzzling
(3) Hidden (4) None of the above

78. Select the option with correct spelling of the word.
(1) Deliberatly (2) Delibrately
(3) Deliberetely (4) Deliberately

79. Select the option which is antonym of the word 'Auspicious' :
(1) Unauspicious (2) Non-auspicious

(3) Inauspicious (4) Favourable

80. Select the option with correct spelling of the word :
(1) Acquiscence (2) Acquiescence ‘

(3) Acquiesence (4) Acquisence

CJDEOT-2012/SET-Z/(D) P. T, 0.
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81. The following sentence has an error in one of its part. The number assigned to the
part is the answer. Ignore errors of punctuation, if any. Mark the correct answer :

We are looking forward for good rains this year.
(1) looking forward for (2) we are

(3) good rains (4) this year

82. One of the following sentences is correct, While the rest three have some error(s).
Select the correct sentence :

(1) The accused admitted his guilt in the court
(2) The accused confessed his guilt in the court
(3) The accused agreed to his guilt in the court

(4) The accused accepted his guilt in the court

83. Select the correct option reflecting correct meaning of the word 'Dauntless’.
(1) Coward (2) Wavering

(3) Fearless (4) Compromising

84. Select the option which is a synonym of the word 'Nefarious'.
(1) Virtuous (2) Upright

(3) None of the above (4) Evil

85. Select the option having meaning similar to the word ‘clumsy".
(1) Ungainly (2) Tactful
(3) Attractive (4) Graceful

CJDEOT-2012/SET-Z/(D)
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87.

89.

Name the capital of Assam :

(1) Guwahati (2) Dibrugarh
(3) Dispur (4) Jorhat
FEH B AU BT AW qAN

(1) 7@t (2) feaog
3) Rag (@) SReEwR

Which river(s) flow through Iraq ?

(1) Nile (2) Tigris

(3) Euphrates and Tigris (4) Nile and Tigris
TS H - T qwd & ?

(1) e (2) feaRa

(3) gwvew td ey 4) A v@ fenlRa

In which year Reserve Bank of India was created ?

(1) 1921 (2) 1935 (3) 1947 (4) 1955
IR Rod §& 5w ad § qamn mar ?

(1) 1921 (2) 1935 (3) 1947 (4) 1955
One gram of weight is equal to ........... milligram.

(1) 10 mg (2) 100 mg

(3) 1000 mg (4) 10,000 mg

U6 U AR . el & aeeR g 2

(1) 10 firmo (2) 100 framo

(3) 1000 Ao (4) 10,000 fArmo

CJDEOT-2012/SET-Z/(D)

25

P 0.



26

90. Who picked up IPL-5 cricket championship ?

(1) Chennai Superkings (2) Mumbai Indians
(3) Kolkata Knight Riders (4) Delhi Daredevils
Imgofovato-5 fivde wfrafiar fres ot 2

(1) ¥ gw fFw ) g9 ¥y

(3) FraHEAT 13T TS (4) et W Masw

91. Which among the following is the largest (area) Union Territory ?

(1) Puducherry (2) Lakshadweep
(3) Andaman-Nicobar (4) Daman & Diu
e & e a9 I it & Fa-w R 7

1) 3= (2) W

@) sem-freEr (4) =7 W Ry

92. Which dynasty among the following did emerge the earliest to rule ?

(1) Tughlak dynasty (2) Sayyad dynasty
(3) Slave dynasty (4) Khalji dynasty
= gat ¥ wduem f&w 99 &1 W 0 ?

(1) e g9 () w2 g9

(3) '™ Y (4) Raesh T

93. How many times do we breathe at rest (in adulthood) per minute ?

(1) 20-25 () 72-75 (3) 13-17 @) 58
&9 (gave) Ry &) v ¥ ufy Bee fFah ar w9 o € ?
(1) 20-25 @) 72-75 (3) 13-17 4) 58

CJDEOT-2012/SET-Z/(D)



94. Name the capital of Canada :

(1) Toronto (2) Montreal
(3) Vancouver (4) Ottawa
PATST B AT BT AH TAW -
(1) Ix=y (2) Aras
(3) FTTR (4) 3hear
95. Which among the following is the smallest religious minority in India ?
(1) Sikhs (2) Christians
(3) Buddhists (4) Jain
ARG A 9E BT el wE (@) Fra A s g ?
(1) R (2) o
(3) dg (4) 9
96. Find one number from the given choices which can fill both blanks :
0w _ 2
? 003
(1) 9.00 (2) 0.009 (3) 0.90 (4) 0.09
frd T Rreat ¥ ¥ ¥ e g ot A1 Rt Wt @Y R WS
027_ 2
? 003
(1) 9.00 (2) 0.009 (3) 0.90 (4) 0.09

97. Simplify the following :
7+15+5x4-6=7?
(1) 34 (2) -49 (3 13 4 1
=1 @ wRe @ ¢
7+15+5x4-6=7?
(1) 34 (2) -49 (3) 13 4 1

CJDEOT-2012/SET-Z/(D) P.T.O.



98. Complete the series :

39 15,4.12,18, 5, 15 i
(1) 19 (2) 20 (3) 6 4) 45
HGSAT P GRT I
39, 19,4412, 16, 5,115 . cisnsess ;
(1 19 (2) 20 (3) 6 (4) 45

99. Complete the analogy :

Newspaper : Press : : Cloth : ?

(1) Tailor (2) Fibre
(3) Mill (4) Cotton
WIGT B R B

HHTIRYS : GEOIY : YT ¢ ?
(1) =it (2) e
(3) dR@TT (4) ®uH

100. Choose the analogous to

Hen : Chicken
(1) Lion : Lioness (2) Lamb : Sheep
(3) Butterfly : Caterpillar (4) Ostrich : Bird
wod

T - g
(1) I : I (2) W9 : A
(3) fawredt - ¥ (4) siffga : aeft
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